log [AY/Y) I (AYlY),]  HAULAB -Y sensitivity

S/Su=(AYMIAYTY),  normalized to QYY)

28100 =s(Y/Yp)'-d (Y,=100)Y,=22,5=134,6, n=0,31, d=34,6)[
L*=r (YIY)"-d (r= S(Yu/Yn)":79,10,L*u= r-d =44,4)  [1bf
dY /Y=[(Yn/(ns) Y/ Yn)linlY [3c]
@IV = [0l (nS) 10V /Y)Yy [3d]

11 g vy e /iy = (i fm) & = - 4120
log [(dY /Y)/ (dY /Y)] =1(§;n) |og(\lr 1'Yy) Ly 300cd -SOOCd%ﬂ

mp, =-n=-0,310 o0 S~ ' a;)r?gl;gatlon

Ofple = = = - - -------

my = -0,296 Yu_'29~09§'0201
1
1 0,1 1 10 "v,=18100 Y
—2 -1 0 1 2 logY

hen31-1la

a



